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Early Elizabethan England, 1558-88
Answer Question 1(a), Question 1(b) and EITHER Question 1(c)(i) OR Question 1(c)(ii).

1 (a) Describe two features of English involvement in the Netherlands, 1585-88.
(4)
Feature 1
Feature 2
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(b) Explain why treatment of the poor changed in the period 1558-88.
(12)

Kt (. o )
% You may use the following in your answer:

« government action
::o';: .9 %
s « poor relief

e
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\You must also use information of your own.
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Answer EITHER Question 1(c)(i) OR Question 1(c)(ii).
EITHER

(¢) (i) 'The problem of Elizabeth’s legitimacy was the main problem she faced when
she became queen in 1558/

How far do you agree? Explain your answer.

(16)
(" A
You may use the following in your answer:
« Anne Boleyn
- royal finances
You must also use information of your own.
- / 9
OR 3
(c) (i) ‘The Revolt of the Northern Earls was the most significant challenge to ;
Elizabeth’s rule in the years 1569-86. R
How far do you agree? Explain your answer. SO
(16) S
e ™ S
You may use the following in your answer:
RIS
. the Earl of Northumberland If?(

- Babington’s execution (1586)

L You must also use information of your own.
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